Notes - Linear Optimization Day 2					Name_________________________________
Senior MATH								Hr_________
Learning Targets:
· Use linear optimization/programming to solve applications.
· Recognize situations in which there are no solutions or more than one solution of a linear programming application. 
Warm Up:
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b. Sketch a graph of the region
determined by the constraints
tofind how many of each tire
the garage should sell to
‘maintain optimal profit.
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AUTOMOTIVE Mechanics ata
repair garage carry two name
brands of ires United, x, and
Royale, y. The number of Royale
tires sold i typicall less than or
equal to twice the number of
United tires sold. The shop can
store at most 500 ires at one
time. Due to factory capacity, the
‘number of Royale tres produced
s less than or equal to 50 more
than 0.25 times the number of
United tres. The garage eams
25 profit for each United tire and
$20 profit for each Royale tire.
a. Write an objective function
and a st of constraints that
‘model the given situation.
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b. Sketch a graph of the region
determined by the constraints
1o find how many day-shift
‘and second-shift employees
should be scheduled to
‘optimize labor costs.
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WAREHOUSE The employees of
awarehouse work 8-hour shifts.
There are two different shifs the
employees can work, the day
shift from 8 an. to 4 p.u. or the
second shift from 2 p.u. to 10 p.u.
Employees earn $11.50 per hour
for the day shift and $13 for
second shift. The day shift must
have at least 35 employees. The
second shift must have at least
25 employees. For the
overlapping time, from 2 p.u. to
4p.m.,there must be at least
65 employees working.
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a. Write an objective function
‘and list the constraints that
model the given situation.
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